



namn: _____

Datum: _____ Poäng: _____

$$(5 - \frac{1}{2})^2 + \frac{1}{2} \times \frac{2}{3} \times 4^2 =$$

$$(3 + \frac{3}{4})^2 + \frac{3}{4} \times 5^2 + \frac{1}{3} =$$

$$((\frac{1}{5})^2 - \frac{1}{4}) \times \frac{1}{5} + (\frac{1}{3} + \frac{2}{5})^2 =$$

$$(\frac{1}{2} - \frac{3}{2})^2 + \frac{1}{2}(\frac{3}{2} + \frac{1}{3}) =$$

$$(\frac{1}{5} - \frac{1}{5})^2 - \frac{2}{5}(\frac{3}{2} + (\frac{1}{5})^2) =$$

$$(4 - \frac{1}{2})^2 + \frac{3}{5} \times 5^2 + \frac{3}{5} =$$

$$(4 + \frac{1}{6})^2 + \frac{1}{4} - \frac{1}{3} + 3^2 =$$

$$(\frac{1}{3} + (\frac{1}{3})^2) \times \frac{1}{2} + (\frac{1}{2} + \frac{1}{5})^2 =$$

$$(4 - \frac{1}{4})^2 - \frac{1}{2} + \frac{3}{2} \times 2^2 =$$

$$(3 + \frac{2}{3})^2 - \frac{1}{4} \times \frac{1}{3} + 4^2 =$$



namn: _____

Datum: _____ Poäng: _____

$$(5 - \frac{1}{2})^2 + \frac{1}{2} \times \frac{2}{3} \times 4^2 = \frac{307}{12} = 25\frac{7}{12}$$

$$(3 + \frac{3}{4})^2 + \frac{3}{4} \times 5^2 + \frac{1}{3} = \frac{1591}{48} = 33\frac{7}{48}$$

$$((\frac{1}{5})^2 - \frac{1}{4}) \times \frac{1}{5} + (\frac{1}{3} + \frac{2}{5})^2 = \frac{2231}{4500}$$

$$(\frac{1}{2} - \frac{3}{2})^2 + \frac{1}{2}(\frac{3}{2} + \frac{1}{3}) = \frac{23}{12} = 1\frac{11}{12}$$

$$(\frac{1}{5} - \frac{1}{5})^2 - \frac{2}{5}(\frac{3}{2} + (\frac{1}{5})^2) = (-\frac{77}{125})$$

$$(4 - \frac{1}{2})^2 + \frac{3}{5} \times 5^2 + \frac{3}{5} = \frac{557}{20} = 27\frac{17}{20}$$

$$(4 + \frac{1}{6})^2 + \frac{1}{4} - \frac{1}{3} + 3^2 = \frac{473}{18} = 26\frac{5}{18}$$

$$(\frac{1}{3} + (\frac{1}{3})^2) \times \frac{1}{2} + (\frac{1}{2} + \frac{1}{5})^2 = \frac{641}{900}$$

$$(4 - \frac{1}{4})^2 - \frac{1}{2} + \frac{3}{2} \times 2^2 = \frac{313}{16} = 19\frac{9}{16}$$

$$(3 + \frac{2}{3})^2 - \frac{1}{4} \times \frac{1}{3} + 4^2 = \frac{1057}{36} = 29\frac{13}{36}$$